Copyright Lappset Group Ltd

% LAPPSET.
CLOXX

SECURING

DATE: 3.10.2012

1(1)

max. 25 Nm

max. 25 Nm

max. 25 Nm

max. 15 Nm

max. 15 Nm

Hox!

Security plugs
are included
only for
selected
products.

Pultit on kiristettdvd lopulliseen kireyteen,
ennen turvapinnien asennusta.

903699 /

(903543)

&

<
O

Note!

(@]
o
W
~]
o
(@]
D

(903544) 'i

<
N

Tighten bolts properly,
before installing security plugs.




8% LAPPSET.

Impact Area EN 1176 REF:

Copyright Lappset Group Ltd

DATE: 20.2.2018

4x

]

]

h <600

Without movement
and therefore
without Impact Area

Totally hard surfaces.

Note. Lappset does not recommend
totally hard surfaces at all.

E.g. concrete or asphalt

h <600

With movement
e.g. rocking

Materials with very limited
impact attenuating
properties.

E.g. wood
U 1Y Dl 1Y i

h <1000

Materials with significant
impact attenuating
properties.

fine gravel 0—8 mm

T Ay vy 454 a4 B <4 s a4

saa 0300 237 439 40 eml e Ly
AR 44. .44 24 i

Mmi%
h <3000 Loose fill material
E.g. e T
sand/gravel 0,25...8 mm D60/D10<3,0 | = o ]
Woodchips 5...30 mm : ae Ol
bark 20...80 mm < . ) :
e PR S R
S h
30 cm < 2,0 m
40 cm < 3,0 m
Syntethic granulates ’—‘
S h
40 mm ~> 1,2..1,3 m S
50 mm ~> 1,5...1,7 m RS I Al //ﬁ‘
60 mm ~> 1,8...2,0 m :::*:7:*:::::::::::::::
70 mm ~> 2,1..2.5 m P S

Note. For accurate values, see
manufacturer’'s instructions.



lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text


% LAPPSET.

EN 1176 FOUNDATION

REF:
DATE:

20.2.2018

REMOVE SAFETY SURFACE /SAND/GRAVEL
TO CHECK FOUNDATION

9

REMOVE SAFETY SURFACE /SAND /GRAVEL
10 CHECK FOUNDATION

Copyright Lappset Group Ltd




Copyright Lappset Group Ltd

% LAPPSET.

902253

CLOXX DATE:  11.2.2008 1(2)
(1) 902196 |pes|(2) 902232 |pcs|
2] 1
5
150x50x50 | | M10x55 | |
(3) 902233 |pes|(4) 902273 |Pcs|
1 2
||
MIOx30 | | B
(5) 905023 |pes|(6) 905112 |pcs|
2] 2]
osoxize | | @22 | |
(7) 909195 |pes|(8) 980150 [Pcs|
1 1
Mextogo | | w8 | |
(9) 980161 |pes| pes|
2] -
Mo | | B
DET 1 il =

M10

905023
MBx130
903112

905112
902196




Copyright Lappset Group Ltd

% LAPPSET.
CLOXX

902253

DATE:

11.2.2008

2(2)

Set to place only.
Tight properly. éj?

<3
0
<8
0]

1600

300

(@] (@]
N fp}
M~ < o
N N
N
Q
ébb
(@]
N
N
400 (g
o
550 TT
o
00
Y o
410 ke
8 790 o
(o)) N
(e)]
(@)
(e)]
: 9
390 390 390 190
100




Copyright Lappset Group Ltd

% LAPPSET.
CLOXX

701985

DATE: 28.6.2007

1(1)

(1) 902094 |pes|(2) 909519 |pes|
1
@60x450 | | 50x380x380 | |
(3) 909637 |pes|(4) 909638 |pcs|
4 4
S
=
=
Mo | | @20/10,5 | |
(5) 909639 |pes| pes|
4 -
MIOx25 | | N
PCS PCS
PCS PCS
PCS PCS

Z Py L o ///Z/C/)/ 7

V4 / s, Lo 07 s

NIt AN A1

s Vs Lo oy s 4

Z 7 7y A -

7 PR e 4 4 ///;if» /

Ve e Z Yy 4 2

i

AN Z 4 s F///Q%
—_ T I ,‘
a2y

902094

M10x25
< 909519




% LAPPSET. CLOXX
WALL AND FLOOR DATE:  3.8.2010 1(3)

o
(9]
(%]

(O 701967 () 701936 |pes|() 929322 |pes() 902124 |res(() 980161 [pes|() 905112 |pes|() 980150 |pes

_ 10 10 6| 6

), \ed Q \m?
668x668x15 @120x30 | | 150x50x50 | | Mo | | @22 | | -
(O 909256 |res|() 902232 |pes|(0) 902233 |pes|(C) 901899  [ps| pes| pes

6 5 5 6
| &
8 ©

216/8.4x1.6 | | Mioxs5 | | Miox30 | | wmex45 | | ] -
PCS PCS PCS PCS PCS PCS

(%]

(O 701987 () 701936 |pes|(0) 929322 |pes|() 902124 |pes|() 902197 |pes|() 980161 |pes|() 905112 |pes

1] 3] 4] 14 6|
s ) &) D)
= N
. 4
N\ e L L - L L L L
668x668x15 @120x30 150x50x50 200x50x50 M10 @22
(O 980160 |pes|() 909256 |pes|() 902232 [pes|(C) 902233 [pes|(C) 901899  [pes| pes
6 6 9 5 6
= © ,‘/
9
M8 | o16/8.4x16| | Mioxss | | wmiox3o | | wmexas | | ]
PCS PCS PCS PCS PCS PCS

el
(9]
w
O
o
~
N
~
o
(9]
(%]

pes(0) 902197 [pes|(C) 980161 [pes|(C) 905112 [pes

(O 702046 |() 701936 |pes|() 929322

Copyright Lappset Group Ltd

; 10 6
668x665x15 | | 0120x30 | | 150x50x50 | | 200x50x50 | | wio | | ez ||
(O 980150 |pes|() 909256 |pes|() 902232 |pes|() 902233 [pes|() 901899 |pes PCS

6] 6 |
&)
& @ ||
)
M8 | | @16/8.4x1.6| | Mioxs5 | | Miox30 | | Msxas | | -




% LAPPSET.
WALL AND FLOOR

CLOXX

Copyright Lappset Group Ltd

DATE: 3.8.2010 2(3)
(O 701986 |() 701990 [pes|(C) 902124 |pes|(C) 980161 |pes|(0) 902232 |pes() 902233 [pes| pes|
L 14] 7] 7] ]
S -
& | L 9 - - ]
668x668x15 150x50x50 M10 M10x55 M10x30
(O 701989 () 701886 | |() 902124 | |(O) 980161 | |() 902232 | |() 902233 | | H
1] 14] 7] 7] ]
S <
@ || —1ls
668x668x15 | | 150x50x50 | | MO | | Mioxs5 | | Miox3o | | ]
(O 701997 | 902151 [pes|(C) 902124 [pes|(C) 980161 |pes|(0) 902232 |pes() 902233 [pes] pes|
1] 10] ] = ]
oY 9
668x668x15 | | 150x50x50 | | Mio | | Mioxss | | wMiox3o | | ]
(O 701999 | 701936 |pes|() 929322 [pes|() 902124 [pes(C) 980161 [pes|() 905112 [pesi(C) 980160 |pcs|
‘ 1] _ 3] 14] 14] 6] 6]
‘wf ‘@, \ S
/ .-' ® \mf
4
668x668x15 | | @120x30 | | 150x50x50 | | Mo | | @22 | | M8 ]
(O 909256 |pes|(0) 902232 |pes|(C) 902233 [pes|(C) 901899 |pcs| pes| pes
6] 7] 7] 6] ] ]
5 5
016/8.4x1.6 | | Mioxs5 | | Miox30 | | wmexas | | ] ]
(O 702000 |() 701886 [pes|() 902124 [pes|(C) 902197 [pes((C) 980161 [pes|(C) 902232 [pesi(C) 902233 |pcs|
14] 9] 9]
668x668x15 | | 150x50x50 | | 200x50x50 | | Mio | | wMioxss | | wmiox3o | |
(O 702056 |() 701975 [res|() 902124 [pes|(O) 980161 ﬁ@ 902232 ﬁ@ 902233 |pes| Pos|
16] 18] 18 ]
668x668x15 | | 150x50x50 | | Mo | | Mioxss | | Miox3o | | ]
(O 702155 |0 902151 [pes|(C) 902124 [pes|(C) 980161 [pes|(C) 902232 [pes|(C) 902233 [pes] pes
14] 7] 7 ]
i\.@% ',
& 9
668x668x15 | | 150x50x50 | | Mo | | Mioxss | | wmioxzo | | ]




3(3)

M10x52

902197/
Ox20o

|

M

CLOXX

DATE:
M10x55

M10x55

MTOx350
%%%6J/7
[T /202124
M —M10
&
% &
Use a wire marked pairs

of the same junction.
Kayta langalla merkittya
paria samassa liitoksessa.

NOTE:
Huom!

M8Bx45

% LAPPSET.
WALL AND FLOOR

M10x55
902197/

GG
N

/ﬂ

MTOx35

py7 dnoug yesddoq g6l 3ublAdol



8% LAPPSET. 702285
CLOXX DATE:  4.4.2008 1(1)

(2) 902379 |pcs
DET 3
(3) 902388
@35xM8 | | N
(5) 909637 |pes|(6) 909638 [pes
4] 8
1@)
\t
Mo | | @20/10,5 | |
(7) 909639 |pcs((8) 900965  |Pes|
4] il
miox2s | | Mo | |
a (9) 909628 |pes|(10) 902252 [Pcs|
il 4
)
a ©20/10.5 | | Miox3s | |
PCS PCS
‘g’ DET 2

Copyright Lappset Group Ltd

DET 1 DET 2
QO
ET’/
— 12 & —— o M
v 7 ez o 0w o
/// // /24 /// // /;/ //
Z Al ®e
|7 75 z O|z
2 /4n Zan O
Z N N @20/10.5
TRIR //4/; 7 7 Wz om
= YV Y Y =
TR TR TRIR T 902379




% LAPPSET. 902134

CLOXX DATE:  3.5.2013 1(2)

Copyright Lappset Group Ltd

(1) 901803 |pcs|(2) 901994 |pes

DET 1, 2, 3, 4, 5, 6, (8) ®/

M12x90 2190
(3) 902096 |pes|(a) 902234 [pes
DET 8 @/ 4 | 6]
— M12x120 | | M2 | |

X

L\ @ L R

DO NOT TIGHTEN THE ] ]
JOINTS UNTIL THE T ]
STRUCTURE IS COMPLETE.




% LAPPSET.

902134

CLOXX DATE: 3.5.2013 2(2)
DET 1 DET 2 DET 3
FIRST BOLT
~ FIRST BOLT INSTALLATION
— 1% ( 3 INSTALLATION TMOX‘ SONm.
\ Max. 20Nm.
T
LAMINATE OR WQOD ’\/H 2><9©
(901803)
M12
(902234) (902234)
DET 4 DET 5 DET 6

901994

901994

Max. 20Nm.
M12x120
( )

FIRST
BOLT
INSTALLATION

Max. 20Nm.

MT2
(902234)

M12x120

REMEMBER
FINAL
TIGHTENING

902096 (902096)
DET 7 902157 or DET 8 902157 or

904747 904747

FREE HOLE FREE HOLE

Copyright 1998 Lappset Group Ltd






